in= Elim nate[{a2 = (X -xl )2 +y?2 b? = (X—Xr)2+y2}, y]

ouzl= b2 -2 xxl +x12+2xxr -xr? = a?

@)= Sol ve[b? -2 x xl +xl124+2xxr —xr? = a?, x]
( a2 +b2+xl?-xr2 }
oual {{x -
2 (xlI —xr)

o a2+ b2+ xl2-xr2
In[6]:= FuIIS|erI|fy[ 2o X0 ]

a2+ b2 +xl?-xr2

Out[6]=
2 (xI —xr)

n7p= Eliminate[{a? = (x -x1)%+y? b? = (x -xr)2+y?}, x]
oufr= -b*+2b2xI2-x1%-4b%xl xr +4xI3xr +2b%2xr2-6xl2xr2+
axl xr®-xrt-ax1?y?8xl xry?-4xr?y? =a*+a? (-2b?-2x1%+4xl xr -2xr?)
niop= Solve[-b* +2b2xI 2 -xI*-4b2xl xr +4xI3xr +2b2xr2-6xlI2xr2+4xl xr3-
xr*-4xl?y?+8xl xry?-axr?y? =a*+a? (-2b?-2xI?+4xl xr -2xr?), y]

1
out[10]= {{y»— (\/<a4+b472b2xl2+x|4+4b2xl Xr -

\/—4X|2+8X| Xr — 4 xr2

4x13xr -2b2xr?2+6xI2xr?2-4xl xr3+xr®+a? (-2b%-2x12+4x| xr —2xr2)))},

1

{y (v (a*+b* =202 xI 2+ xI* +4b?xl xr -4xI3xr -2b%xr?+

N
\/74xI2+8xI Xr — 4 xr?

6xl2xr2-4xl xrd+xr?+a? (—2b2_2X|2+4X| xr —2xr2)))”

1

= Ful | Sinpl i fy[

-4 x124+8xl xr -4xr2
(\/(a4+b4—2b2xl2+xl4+4b2xl Xr -4xI3xr —2b2xr2+6xl12xr2-

axl xrdexr®+a? (-2b%-2x12+4xl xr -2xr2)))]

(a-b+xl -xr) (a+b+xl -xr) (a-b-xI +xr) (a+b-xl +xr)

Out[11]=
24/- (xI —xr)?
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